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’ Fi-101/1846
B. Tech. (Scmestersl) Fxaminatior-2014
Flectrical Engg
time: Three Hours| [ Maximithi Viarks: 100

wyte:  Atterapt gnestions from all the sectivit.

Sectiop-A
Nate:  Attewpt any e Suagtins. Each questinn carl'es 4
arks. (4x10=4%)
Applying Kirchhoff's current lav, deiermine 1s In < lectr
circuit. Take Vo = 16V
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IB f,- 645, 4
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Differentiate between Active and Passive clement.

p {ising Thevenin’s theor<™. determ e current and vollage

Yahm resistance in th 'ircﬁf{\)
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A alternating current is given by 1=20 S 600 ¢ am, _'
Find: T
(i) Frequency

(11) Peak value of current

(iti) Time taken from =0 for current to reach a vilue of |,

Define form factor and peak factor

A circuit consists of 202 resistance in series with capacit; v ¢
of 200uf, connected across 50Hz supply. The curiant thr,
circuit 1s 10.8 Sin 314t amperes. Deterniine voltage ac

bd(.h comEonent and across the ckt. e ——

A 3 phase balanced load draws 10 kw power row: 400 V .
0, 50Hz, 4-wire supply at .8 logging power factor

(1) Determine line current
(i1) Lit: current is power factor equal unity.

Determine transformer efficiency

-—

A 3-8 slip nn(pple inductor metior Iras rotor frequency «f
70 L while ~onnected to /400V. (41, S0 iz supphy.
~ v

o q g a — \\‘ ? B =
etermine siil’. 2ad rotor speva: S Fre0

Obtain equivalent X from A YA transfor: 2ation,

| s
Why the stator winding of aliernator s generall' sl
connected?

Why we never discuss apparent power. active, power wid

reactive power in dc circnit? Give retattonship b/w them ‘I
Al
a.C circuit.

What are merits of PMMC instruments”
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A full scale deflection current of a meter is ImA anu '®

14. ) , o . et S
internal resistance is 100£}. If this meter is to have fuil st
deflection when 100V is measured. Find value of scries

resistor.

Explain why power in ac circuit cannot be measure by
ammeter and voltmcier.

Section-B

Note: Atiempt any three questions. Each question carrie! egaal
marks. (20x3=60)

l. (a) A 600 KVA 1-ph has an efficiency of 92% both
at full load and half-full-load &t unity power

factor. Determine its efficiency at 60% of full
load at .8 pf Log.

(h) Define Nortons theovrem.
2 (a) Draw Torque Slip and Torque Speed Cusve ..
(b)  Find current ! in the C kt.
({ o Y — VYV
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(a)

(b)

(a)
(b)

(a)

(b)

?\GmH — souf
e e )

What 15 Q-factor of passliel resonant (kt?

Write main characteristic of synchronous mcior.
A3¢440V, 50 hp, 50 Hz induction mioter runs a.
1450 rpm when its delivers rates ouipui power.
Determinc

(1) Numbers of poles of machins

(n} Frennency of rotor current

(i)  Sp ol rotating air gap ite!?

Differenuiate  between  squirrei  cage @ ‘Lenon

reotar and ship ring indnating mator,
A coil kas resisiance of 108 and draw . ient o
5A when cnnected across 100V, 56 ile 5o oces
Determine reactive power of the Cht

Use podal-anassis 1o find curreni «u riens SISO Q
th { 'kt shown.
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